ERRATA

Core Concepts for a Course on Materials Chemistry

Page 16 Figure 1.15 should be:
(a)
Phase sin (0) = sin (nm =0
2 sin([p+1/2] ® =+1 (neven)
0 A2 y) =-1 (n odd)
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Waves 1 and 2 interfere destructively
Waves 1 and 3 interfere constructively

Page 40 In Section 2.3.2, the first bullet point should be:

e A well-known example is Ca®* impurity in a K'CI" crystal. One Ca”* replaces two

K* in order to maintain overall charge neutrality.



Page 54

Page 55

Page 76

Page 78

Page 82

Page 103

Page 117

Page 121

Page 150

Page 163

Caption of Figure 3.6(b) should be:

(b) Bose-Einstein distribution function; excitation of phonons with different
frequencies at temperature, T are shown schematically. Drawn schematically based
on Figures 4.3 and 4.4 in ref. 1.

First line should be:

e Iltis seen from Figure 3.6(b) that for a temperature, T, @ mode is

The first word in the third line of the second bullet point should be:
vector,

In Section 4.2.3, in the second bullet point, in the parenthesis, it should be:

=s(2)

The third bullet point in Section 4.3.1 should be:

e Atvery low temperatures where the phonons die down fully (phonon numbers
vanish even for the lowest energy acoustic modes), the carrier scattering is only
due to lattice impurities and defects, and the mobility becomes constant; the
corresponding resistivity is p (see Section 4.1.5; shown as pin Figure 4.13(b)).

In Table 4.5, entry in the third column of the 21°*" example should be:
33

In Section 5.3.1, the equation under the first bullet point should be:
U=—-pnH=mgBH

The fourth line from the top should be:

. 1
of the field. ¥iandau~ — 3 XPauli -

In Section 6.2.1, the last two lines under the first bullet point should be:

light irradiation; for example, CdS commonly used in pho-
toresistors has a —2% ~105 — 106.

dark

The last line in the first paragraph should be:
LEDs (Section 6.3.3).



Page 169 Figure 6.18 should be:

(a) P P
E —>Time :i
—._ —> E (b) Nonlinear polarisation
Time
Page 178 Figure 7.1 should be:

Diels-Alder reaction
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Page 182 Figure 7.5 should be:
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‘ Heat
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Page 227 Question B-5 should be:
5. Given the equation for the geometric structure factor,

Shit = Yo [ 2T Xntkyntlzn) | derive the systematic absence conditions for
a face-centered cubic lattice.

Page 244 In the Subject Index: ‘Fritzel cell’ should be corrected to ‘Grdtzel cell’ and placed at
the appropriate point in the index.



